Задания для школьного этапа олимпиады

2 Уровень
Listening Comprehension

I. Here are some statements. Are they TRUE or FALSE?

1. The house-hunting with Madame Durrell can not be easily imagined.

2. Madame Durrell didn't like any of the villas because of their colour and size.

3. Madame Durrell was sure that they would find a villa with a bathroom.

4. The behaviour of the taxi-drivers was very emotional.

5. The family decided to report the taxi-drivers to the British consul.

Vocabulary and Grammar

II. Complete each sentence with the correct form of one of the verbs and the prepositions below. Use each verb and preposition once only.

borrow
operate
hope





from
   on
     of

object

succeed
approve



for
   in
     to

1. The surgeon ………….. ….. her immediately and saved her life.

2. The bank wouldn’t lend me the money so I had to ………… it ……… my parents

3. After trying for an hour I finally ………… ……….. starting the car.

4. Some guests have ……………. …….. having to pay extra to use the swimming pool. I’m not surprised they’re annoyed.

5. By the way she spoke you could see that she didn’t …………… ………… the arrangements for the wedding.

6. Let’s ………… …….. the best. You never know – the weather might clear up.
III. Choose the correct word to complete these sentences. 

1. I am not sure if she _____ to you about the matter tomorrow.

A. will talk

B. talks

C. has talked

D. will have talked

2. Alaska is larger than _____ state in the USA.

A. any other

B. others

C. other

D. another

3. Promise me to take the medicine, _____ you?

A. do

B. don’t

C. will

D. shall

4. I _____ take to bus yesterday because the subway was closed.

A. had to

B. must

C. was able

D. was to

5. You should always respect _____.

A. another

B. other

C. others

D. the other

6. I am sorry it failed.  The fault is _____.

A. my

B. my friend

C. mine

D. our

7. He won’t come to the party unless Boris _____ him personally.

A. will invite

B. invite

C. invites

D. had invited

8. I’ve come to you for _____ piece of _____ sensible advice.

A. a,  _____

B. an,  _____

C. the,  a

D. _____,  _____ 

9. He _____ for his history exam for weeks and I believe he will do well.

A. revises

B. is revising

C. have revised

D. has been revising

10. It was obvious there wasn’t _____ milk in the bottle.

A. many

B. few

C. a few

D. much

11. I’d like to know how long Margie has been absent _____ school.

A. at

B. in

C. from

D. out of

12. The problem _____ for three years, but they haven’t got any results.

A. was studied

B. had been studied

C. has being studied

D. has been studied

13. Life on our planet is _____ it used to be.

A. as easier as

B. more easier than

C. much easy than

D. easier than

14. It is impossible to imagine them dancing by the light of the _____ moon.

A. silver

B. silvery

C. gold

D. steel

15. I was sure that if you _____ less bread, you _____ weight.

A. ate,  lost

B. eat,  lose

C. will eat,  will lose

D. eat,  would lose

16. The girl is going to find out the details as soon as she _____ .

A. will get back

B. get back

C. gets back

D. will have got back

17. The _____ chased the _____ for several hours.

A. wolfs, deers

B. wolves, deer

C. wolves, deers

D. deer, wolf

18. The money needs _____ for a rainy day.

A. to put aside

B. to be put aside

C. putting aside

D. being put aside

19. The parrot _____ but does not talk.

A. do scream

B. does scream

C. does screams

D. is screaming
IV. For questions 1-10, read the text below and decide which answer A, B, C or D best fits each space. 

TREES FOR LIFE


Trees are amongst the biggest and longest-living things on Earth, some (1)….. back longer than the oldest buildings. But (2) ……. being nice to look at, trees also (3) ……… an important role in improving the quality of our lives. 


On a world-wide (4) …….., forests help to slow down the effects of global warming by using up the gas (5) …….. as carbon dioxide and giving (6) ………… the oxygen we need to breathe. At local neighbourhood level, trees also (7) ……… important environmental benefits. They offer shade and shelter, which in (8) ………. reduces the amount of energy needed to heat and cool (9) …….. buildings; at the same time, they also remove other impurities from the air we breathe. Urban trees are especially important because for many people they provide the only daily (10) …….. with the natural world. 

1. A dating 

B ageing

C growing 

D stretching

2. A as far as
B as long as 
C as soon as 
D as well as 

3. A play

B show 

C act


D serve

4. A scale 

B size 

C range 

D area

5. A called 

B known 

C titled 

D referred

6. A in 

B away 

C up 


D out

7. A bring 

B make 

C take 

D find

8. A turn 

B place 

C order 

D reach

9. A opposite 
B close 

C next 

D nearby

10. A junction 
B touch 

C contact 

D taste

Reading Comprehension
V. Read the text and choose the best answer.

The purpose of any British political party is to get as many of its candidates as possible elected to Parliament, because the party with the most members forms the Government. Anybody can found a party, publish a manifesto, produce a candidate and try to persuade the electorate to vote for him or her. But the chances of this candidate, however splendid, intelligent, brave , worthy, politically shrewd and charismatic, getting elected are virtually non-existent. Why? Because one successful candidate (or even two or three or four) will never be able to do anything significant in a situation where numbers count. The voters know this, so – except on special occasions – they will not vote for the candidates of small idealistic parties, however much they may sympathise with their programmes.

Party members in each of the major political parties tend to be hard-working activists who attend branch meetings, discuss details of policy, and pass ideas and resolutions to the constituency of area. They spend hours at election times talking to voters or addressing envelopes and putting up posters. From among their number there are, of course, those who are looking for a political career, either in local   politics or in national politics. It is not usually too difficult to become a candidate in a local election, although candidates usually begin by fighting a “hopeless” seat, one which they cannot expect to win because the other party or parties have very strong support. It is harder to be selected as a candidate in a General Election, and again those who are selected are normally given their first  “fight” in a contest where they will lose. It is necessary experience. 

In most cases, party members have the right to take part in choosing a candidate for the General Election. This act of choosing is itself an internal election, but it is very important to choose the right person. Parliamentary candidates have immense potential power. Out of the 650 successful candidates several will become government ministers, and almost all the others will sit on parliamentary committees and will explain their constituents’ needs and problems to the relevant Ministers.

1. Which of these statements is true?

a. In order to get elected it is enough for the candidate to be splendid, brave and charismatic 

b. Voters prefer candidates of small idealistic parties 

c. Some party members look for a political career in local or national politics

d. Party members usually do not have the right to take part in choosing a candidate for the General Election  

2. The word “its” in line 1 refers to

a. candidate
b. British political party
c. purpose
d. Parliament
3. The word “shrewd” in line 5 most nearly means

a. Showing good practical judgment
b. Bright and attention-getting
c. experienced
d. finest or most important
4. The word “they” in line 10 refers to

a. Special occasions
b. voters
c. Idealistic parties
d.  candidates
5. The word “constituency” in line 13 most nearly means

a. People who read constitution
b. Party members

c. A body of representatives

d. Voters living in the area that elects a representative to a parliament

6. According to this passage, what is the definition of a “hopeless” seat?

a. The seat which is almost impossible to win

b. The seat which is usually won during the “fight”

c. The seat that is won during the local election

d. The seat that is won during the General Election 

7. According to the text, what makes voters restrain from voting for the candidates of small idealistic parties? 

a. They wait for special occasions

b. They sympathise with their programmes

c. Voters know nothing about the candidates

d. It is impossible for one candidate to do anything significant

8. Which of the following can not be referred to party members?

a. They are usually hard-working activists

b. They never attend branch meetings or discuss details of policy 

c. They speak hours addressing to voters

d. They pass ideas and resolutions to the constituency of area 

9. Which of the following statements is not mentioned in the text?

a. The party with the most members forms the Government 

b. Usually it does not cause any problems to become a candidate in a local election 

c. Those elected in a General Election usually lose their “first” fight

d. The act of choosing a candidate for the General Election is called an external election 

10.  The word “immense” in line 25 most nearly means

a. extremely large in degree

b. hidden or secretive

c. psychological

d. operative
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